BFERE—F (H#5])
X2 =i EER(NER) FFRIR (V) EER(RZEK) FF AR (FR2AR) BrRLE

£ 1| TAMET1ITH 21 ¢ Jul] o
| 2| TAMET2TH E3 N Fmh
| 3| TAMEITH 21 £ - Jull] g pch
| 4 TLAYRETAT B E3c] FHN g FErgrh
t | 5| TARHEMET4ATE E3c1 AR 1IN Epyeh
£ | 6 | FTELET1TE E3c] E—1 B/ EARF
£ | 7| FTHELE2TH 21 E—ih EARP
£ | 8 | FTHEILETSTH 21 E—1h ERF
£ 9| T/NEFETH 1295 FTNEF/N TNEFH
H (10| TNEFETE 96 AN L WFE
| 11| T/NEFE1TH 96 FTANEF/N L/ FTNEFH WFELS
| 12| TNEFHE1ITHE 97=229 TNEFND TNEFH
| 13| T/NEFHEI1ITH 230=231 s/ L
| 14| TNEFHEITHE 232 TINEFND TN\EFH
£t | 15| T/N\EFHEI1THE 233 s/ L
L |16 TT/NEFHE1TH 234=239 TINEFN FTN\EFH
| 17| TNEFHE1THE 240 s/ WL
| 18| TW/NEFHEI1ITH 241 FTINEF/N TNEFH
3 [19| WN\EFE1TH 242 L/ L
£ |20 TNEFHEI1ITHE 243 FTINEF/N TNEFH
3| 21 JTNEFHI1ITH 244 L/ sl
| 22| TN\EFE1TH 245=5251 FTNEF/I FT/\EFH
|23 W/N\EFHEI1ITH 252 TT/NEF/I L TTN\EFH
H | 24| TNEFE1TH 253=260 FTNEF/I TINEFH
|25 TNEFHEIITH 261 L/ L
t |26 mT/N\EFHEH1TH 262=>266 TTINEFI TTNEFH
|27 WNEFHEITH 267 AT 1L
t |28 W/N\EFH1TH 268=379 FTINEFI L TTNEFH
£ 29| FTNEFE1TH 380= FTNEF/N FT/\EFH
|30 | T/N\EFHE2TH 1=812 B L/ L




BFXE—F (ETH %)

X2 =i EER(NER) FFRIR (V) EER(RZEK) FF AR (FR2AR) BrRLE
t | 31| WNEFHE2TH 813=877 B/ fia B /1N L
t |32 mT/N\EFHEH2TH 878 AT 1 1L e
t | 33| W/NEFH2TH 879=902 L/ fia BB /N L
Y | 34| JT/N\NEFHE2TH 903=910 AT fin B /1N NS
t |35 | mT/N\NEFHE2TH 903=910 s/ TINEF/N L
t | 36| JT/N\NEFHE2TH 911=912 L TINEF/N WL
t | 37| m/NEFHI2TH 913=930 AT A/ 1L
t | 38| JT/N\NEFHE2TH 913=930 AN FTINEF/N WL
£ | 39| JT/N\NEFHEI2TH 931=1011 5ATIGN TINEF/N L R
t |40 | T/N\EFH2TH 1012=1084 s L eh
| 41| TTNEFHEI2TH 1085=>1168 L/ FAE/I 1L b
42| TW/N\EFHE2TH 1169=>1351 LN L
Y | 43| T/NEFHEI2TH 13521372 TGN TINEF/N L
t | 44| TNEFHEI2TH 1373= AT 1L
t | 45| JT/N\EFHISTH 1=2147 s/ L
t |46 | JTT/N\EFHIITH 2148=2153 L/ Z il
t | 47| T/N\EFHITH 2154=2749 AT 1L eh
| 48| JT/NEFHEIITH 2750 s/ E il
t 49| T/\EFHEI3TH 2751=3104 LN 1L
4 | 50| JT/NEFHEIITH 3105 s/ END L
t |51 TW/N\EFHITH 3106=3107 LI L
t | 52| JT/N\NEFHEIITH 3108 L/ EN L
t | 53| JT/N\NEFHIITH 3109=3112 s/ L
t | 54| JT/N\EFHEISTH 3113=3114 AT EN LR
t |5 | JT/N\NEFHIITH 3115= L/ L




